DPP - Daily Practice Problems

Chapter-wise Sheets

Date : Start Time : End Time :

MATHEMATICS (cvo2

SYLLABUS : Relations and Functions

Max. Marks : 120  Marking Scheme : (+4) for correct & (—1) for incorrect answer Time : 60 min.

INSTRUCTIONS : This Daily Practice Problem Sheet contains 30 MCQs. For each question only one option is correct.
Darken the correct circle/ bubble in the Response Grid provided on each page.

1.  For the following relation

R=1{(0,0),(0,1),(1,1),(2,1),(2,2), (2,0),(1,0),(0,2),(0,1)} 3. 1f3flx) —f(l) =log x4, then fle™)is
(2 domain={0,1} (b) range=1{0,1,2} X
(c) both correct (d) None of these (@) l+x b) 1/x
2. Thedomain of the function \/,2 _5, 46 + 1/2x + 8- x? © x d -x
is
@ [2,3] ) [2,4] 4. The domain of the function f(x)= | |1 is
X|—X
(© [2,2]V][3,4] d [2,1]u]2,4]
@ (0, ) (b)) (-,0)

© (o, =)-{0} ) (-, )

PENRONAETE 1. @QOOW@ 2. @bO©@ 3. @O 4 @®OW
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R={(0, 3), (0,-3), (3,0), (-3,0
5. f0)= |xP -5]x|+6 + y8+2|x|-|x [ isreal forallx ff,)) Dom{a(m oié - {-)3,(0, 3)} =
in (¢) Range of R = {-3, 0, 3}
@ [4,-3] () [-3,-2] (d) None of these
© [22] d 3.4 11. Letf(x)= v1+x2 ,then
6 0o TR X v of @ T@T@S0) ©) f@)2/6).SO)
q-p P—q © f<f®.fO) (d) None of these
g)p) ;;(Ci)c‘:) ®) fo+q) 12. The domain of the function f(x)= \x —~/1—x* is
© fp+q) d fap-q) 1 1
7.  Areal valued function f(x) satisfies the functional equation (@) [ 1L,- E} v [f 1}
SE=-»=f®f»)-fla-x)f(aty)
wherea isa given constant and f(0)=1, f(2a—x) is equal to b [-1,1]
@ -f (b fx) y i
© f@+f(@a-) @ f(-x) © (—oo,— E}U {T’”’]
8.  Domain of definition of the function 2
- 3 M
f(x)——4_x2 +log10(x3 -x),18 @ [%’1}
@ -L,0ul2uR,o (b)) (a,2)
© (-L0U(a2) (d) 12uE,®). ' eax] | 5]
9. LetA={1,2,3,4 5};B=12,3,6,7}. Then the numberof 1> FPeriodofthe function [SI" 5] +1€0S™"c} is -
elementsin (Ax B)n(BxA)is @ 2n ) 107
@@ 18 (®) 6 (© 8= @) 5n
© 4 o @0 14. Ifn(A)=4,n(B)=3, n(A x B x C)=24, then n(C) =
10. A relation R is defined in the set Z of integers as follows
(x,y) € Riff X2+ y2 =9. Which of the following is false? (@) 2288 ®) 1

© 12 @ 2

0.OOOO IN1E®OO REOEEOO B.E®OG® 4. OO®OG

5. @00@ 6 @OO® 7. @O0 8 @00® 9 EO®OE
GRID
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15.

16.

17.

18.

19.

20.

RESPONSE
GRID

IfS={1,2,3,4,5,} and R={(x,y): x+y<6} thenn(R) =

in7l

@ (1,5):(2,3)6,5 ) (5,1%:G,2)65,3)

(@ 8 (b) 10 © (1,5);@2,3);(5,3) (d) None of these
(c) 6 @ 5
(e |
The function f(x)= log(x+ Vi +1 ,1s 2. 1ifx=In L x?+ IJ > then range of flx) is
(a) neither an even nor an odd function @ O ®) ©.1]
(b) an even function (© [0,1) @ {01}
(¢) an odd function 145
(d) aperiodic function 22. The function f(x) = log (1—) satisfies the equation
—X
x 2
Letf(x)= Tox and ‘a’ be a real number. Ifx;=a, @ fx+2)=2f(x+1)+f(x)=0
x) =f(xg), X, =1 (%)), x3=f(x)..... f X550 =1, ) fx+D)+fx)=fx(x+1))
then the value of a is © SO fx)=f(x;+x,)
2009

0 -/ X, + X,

@) ® 510 A fe)+feey)=S [l+x1x2]
1 1
© 5009 @ o0 23. If f:R—> R satisfies f(x+y)=f(x)+f(»), for all x,
The domain of the function n
dA1)=7,then £ f(r) i
f(x)=log, [‘loguz (1 " x]%) N 1) is yeRandIDZT then 7, 1) is
@ (1) ®) (0,1] @ InnrDh b In
© [1,%) d (1,%) 2 2
The domain of the function f(x) = —1 % is © 7(n2+ ) ) Tn+(n+1).
v x? —3x+2 . .
24. If {} denotes the fractional part of x, the range of the function
@ (-x,1) b) (-, D)UE,») B - i
© (-o1u® @ @) JOZ Jixf - 24x} s
If (1, 3), (2, 5) and (3, 3) are three elements of A x B and the @ ¢ () [0,1/2]
total number of elements in A x Bis 6, then the remaining © {0,172} @ {0
elements of A x B are
15.0000@ 16.OEOO 17.0000 B.OEO®OO 19. @®OY

20.0000 21.EeEOO 22.0000 2.@M0OW 24 O@OW
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-1 @ [32,) ) [1,3/2]
25. Iff(x)= T then f(2x) is equal to (©) (~oo,1] d (1,372)
X+ 28. Iffix+y)=f(x)+22+kxy and fla) = 2, (b) = 8, then f{x) is
f(x)+1 3f(x)+1 of the form
@ “rx)+3 ® "3 @ 222 ) 22+1
© 2x°-1 @ x?
© J@)+3 (d) JSC)+3 29. Therelation R defined on the set A= {1, 2, 3,4, 5} by
S+l 3f(x)+1 R= {(x,) : | ¥*—y*| <16} is given by
2 x+1 @ {1,1),21),3,1),41),2,3)}
26. Therange of the function f(x)=— where x e R, is ) {2.2),6,2),4,2),2,4}
x“+x+1 © {B3.3).(3,4).(54).(4,3),3, 1)}
(@) (~,3] (b) (o0, ) (d) None of these
. 30. Which ofthe following relation is NOT a function
(©) [3,%) (d {5,3} @ f={xx)|xeR} (b) g={(x,3)|xeR}

27. The domain of the function  f(x) = exp(/5x —3— 2x%)
is

© h={0n) Inel} @ = {o)neN)

30.0®OC0D

5.000@ 260000 2.000@ 8.00O0@ 29-@®O@

DAILY PRACTICE PROBLEM DPP CHAPTERWISE 2 - MATHEMATICS

Total Questions 30 Total Marks 120
Attempted Correct
Incorrect Net Score
Cut-off Score 38 Qualifying Score 50
Success Gap = Net Score — Qualifying Score
Net Score = (Correct x 4) — (Incorrect x 1)
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